ZESE || BRI [ Korxo-2 s 159

mE

£ 8 & 50 55

. m ) [ 1L(wwrL) | 1000 =|1000mL(EUU‘yI~}b):1 ",
< | 1Lwwiw) (1000 | =] 10dLzvuwviw) (100 \t

I —— 1dLzvuv i) (1000 =[ 100mL(zuuvy i) (1

B3 RX7RE HEDS

(1 ICIEVBBEENTS (sl

(1) 3LiE | 30 |dL (2) 5L2dL x| 52 |dL

(3) 80dL & 8 L (4) 79dL & Ve L 9 dL

(5) 7L x| 7000 | mL (6) 6000mLIE| 6 |L

(7) 300mL x| 3 |dL (8) 8100mL x| 81 |dL

(9) 6L+7dL+500mL=| 72 |dL=| 7 |L| 2 |dL
(1) 8L—3dL—900mL=| 68 |dL = 6 L 8 |dL
O kohEHELLBAIL. I21:2:3:4 ZNTS  [1psssl

(1) | 4 |2L3dL 3[3020mL |2 |32dL 1 |3220mL
(2) | 2 |58dL 4 |5L70mL |3 |5700mL |1 ]|50L

(8) | 1|7520mL |3 |72dL 2 | 7L5dL 4 |7020mL
(4) | 2 |9L440mL | 4 |90dL40mL | 1 |94L 3 |9L4dL
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7L8dL-57dL=21dL=2L 1dL
?dL 20mL-6dL 80mL=240mL=2dL 40mL
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Lx 2LxX5=10L %% 10L
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Lx  3500mL—800mL=2700mL %z 2L7dL
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450mL+270mL+180mL=900mL
Lx 3000mL—900mL=2100mL %3  2100mL
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Lx  21dL-3=7dL sz T7dL
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(1) 5dLx4=| 2 (2) 12dL+3=| 400 |mL

(3) 8Lx10=| 800 |dL (4) 72L=-8=| 90 |dL

(5) 300mLx7=

21

dL

(6) 3L6dL=+6=

600

mL

(7) 7LX6=

4200

mL

(8)

5600mL-=+8=

(9) 6dLx9—1400mL=

4000

mL =

(10) 63dL=+=7+7L=

7900

40

mL =

79

dL =

7 |dL

dL =

-

dL
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Lx 3dLx8+4dL=28dL=2L8dL %z 2L8dL
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Lx 2800mL-7=400mL sz 400mL
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